1. oA f(x) = 262 =3x+1 o thate] £(0)-£(1) o gh& Fapefet,

>R
2%



® f(1)=-4

@ f(0)=0

D f(-1)

® f(5) =12

@ f(2) = -3



®y=x+12-4 [-1]]=>y=-4



4. OIAFS f(x) = 2%+ 5x— 3 oA £(2) o] B2









ANA fx) =—x*+2x+1 L W, £(2)
(x) x) =

+/(=

1) 9]



x% - 2x -3 of tfi5toq T

S f(x)

8.

@ f(-1)=0 ® f(1)=2

@ £(0)=0

® f(-2)=71

@ f(2)=3



b & o,

A f(x) = —x2 +ax— 19 st f(1) =2, f(-1)
a, b 9 a+b o P27

7
AN
T

o]
<

9.

1 ® 0

@D 2



10.

OJA = f(x) = x* +ax+6 °f thsto] f(-

o, b -a 9 gk= Fstof=t

e =
c

2)

=8, f(1)



ol

@ 2 ® 3 @ 4 ® 5

1



a © g2 Teto]

2~
B

%

m,

1

3x2 =2x =194 f(a) =0 %



= f:R—> R

A a o 27 (

A () = 1o - a1 olEk f(20) = 24 -1
o R

2 4%)



14. oAy = f(x) oA f(x) = x> = 2x+3 L W], 2£(1) - f(-1)- £(2)
©] gtg otoler,

s
=¥



]

1248 y = £(x) A fx) =x2+x—-4L T, £(=2) +2£(1) £(2)

@ 9 ? -9 3 10 @ ~10 6 11



il

16. oA f(x) =222 —dx+ 3 A fla) =3 L W, a & g
Tatofat,

L5



b

ol
N
ol

]\f() ’
X (3)6 4: a 4E[[a

f(x)

o

;OD ,m—l\_

_Z

]
™

B 9
@ 6
3 3

® 0



18. olxFHy = f(x) oA f(x) = —x2 +2x—1 4 ©, £(=3) - 2£(0) ©]

=
A7

@ 13 @ —-13 3 14 @ -14 ®B 15



el

I
x) ©}
| A
y =
2
+
3x —
4% o
S
(f(1
)
o)

Il o
" .
¢ %

JoH m_:ﬂ .
§ 3



(V) ’
i
il 3
Il
=
=
=2
R
<
Il
s
[V
_l’_
w
=
|
[\
e
&
=
=
=
=
lo
=
fijo
-
ol
K[}
£



21.

1

&4 f(x) = 2 =19 B35k fl(x) =

g, f209(-1) o] g Fofeder,

e =
-

fGx).

= f(f"(x)) =t



22,

“\

(x) = x2 = 3l Hi5te] f1(x) =

MH(1) o] ghe T-sheiEt.

fGx).

= f(f"(x)) =t



